OWNER'S MANUAL

ARG W&

MODEL NO.:G2082G

e A gE. G2082G

|
<l
A =
AL AF |1 =
A A
g =2 SR S
E(F
GG ’4”?/
kA
S

N1/
/)
VAN
VAR
WA S H
=
=




1. Parts List FcfEE 8

P B AR B A SR 5, MR U SR, AN ATIER, A RO SR, 2R A 25 ]

Quantity varies according to model purchased. Specifications subject to change without prior notice.
For more details on hardware, please see the corresponding ‘Hardware Reference Diagram’.

NO.| Description QTY[ NO. Description Figure QTY

1 |Lid % [ 20 Igniter®h K 4%

e
g
H

Lid Handle |- 2

2 feF 1 | 21 [Control Panelf% ik

Right Leg Frame

3 |Hinge 175 &1 2 | 22 |assembly 4 A

4 | Warming Rack BA 1 | 23 [Wheel Axlefif

PR A

5 |Cooking Grid/#%#% 1 24 \Wheelifii 1

le]
6 | Flame Tamer - . 1 | 25 [Transverse Leghi =2
AR b
%

7 |Hinge &2 2 | 2 [Front Cloth HirfiiRk

8 |Bumer 152 1 | 27 |Front Basket &I

Screw (M6X40)1244
9 [Hinge AxleiF B il

1 B Screw (M6X10)1244

ey A /@\H[lj/ﬁ

10 |Side Burner Shelf 8
{HI35 5
4
11 ane 1 c Screw (M5X30)1244 10
IAssembly
(AL
M5X10)#Z 4%
12 [Body % 1 | p[ferew eI =D 13
13 [Side Shelfffilif 5 1 | E [M5NutiZig @ 18
#
14 ook #:85 6| F Screw (M4X10)#2 44 — 4
15 Grease Cup Hooki#i# 1 Clips M, 4

H: 4

<
>
!
o
—
®

Thermometr
17 i
R

Left Leg Frame

18 IAssembly ¢ {il JE1 42

19 |Knobz il jie #l




A
5 |

2. Parts Diagram &4 2%

26

25




3. Assembly Instructions: 22325 B

STEP 1

STEP 2

A &= M6X40 4pcs

+

N e

&= (Clip 2pcs
o— Wheel Axle 2pcs




STEP 3

STEP 4

M4X10 4pcs




STEP 5

STEP 6

B & M6X10 8pcs
o» Hooks 6pcs

D § M5X10 3pcs




STEP 7

L4

M5X30 4pcs
M5X10 4pcs
M5Nut 8pcs

e0]
a8
L
—
wn

/

{

ﬁ/
[ ._

M5Nut 4pcs
@ Knob 2pcs

C =) M5X30 4pcs

E




STEP 9

M5X30 2pcs

M5Nut 2pcs

STEP 10

M5X10 6pcs
MSNut  4pcs




Lid Support Axle 2PCS

STEP 11
STEP 12




STEP 13

STEP 14




WARNING

(FEZFIR)

Hazardous fire or explosion may result if instructions are ignored

WNRZBEERAR - CIAE S ERGEIE K KT IRLE

It is the consumer’s responsibility to see that the barbecue is properly assembled, installed, and taken care of.
Failure to follow instructions in this manual could result in bodily injury and/or property damage.
HEZAEARAREELBEENER - ZENGRERE - SAEBFTAFMRE - JEEEREASTHMEESK -

FOR YOUR SAFETY IF YOU SMELL GAS:

RTENZE NMRIREIRE :

1. Turn off gas supply at bottle.
FARATR R EL L IE -

2. Extinguish all naked flames; do not operate any electrical appliances.
BRFr BN KIR BB RIEEUERER

3. Ventilate the area.
REEHZERMNE

4. Check for leaks as detailed in this manual.
IkAFMPFlEERNRRER -

5. If odour persists, contact your dealer or gas supplier immediately.
MERKMNAEE - FUBBENEEPTHITEREREE -

PRECAUTIONS:

FaphtE

1. Leak test all connections after each tank refill.
RS EMEEEISRAEEESRRERE -

2. Never check for leaks with a match or open flame.
BREERAXEEAXEERTERRE

3. Do not store of use gasoline or other flammable vapours and liquids in the vicinity of this or any other appliance.
EAEmESETEOEMME - BAFROSHEE S RFSTIREE -

4. Any LP cylinder not connected for use shall not be stored in the vicinity of this or any other appliance.
ERIREZERN LP B - FARSEREFAEREOEMERME -

ASSEMBLY
3%

Please read all instructions thoroughly before proceeding. Find a large, clean area in which to assemble your trolley barbecue
Please refer to the parts list and assembly diagram as necessary. Assembly of the barbecue involves many large components,
it is advisable to have two people assemble the unit.

HARARFERZE - BFAREARSIPEMESN - KA —EARMNERES - LAARGHNREE - BRFSESHBENER
EEETHE - RIEBNARSRIFZSATHE  BEEmMEALRAR -

NOTICE:
FE
Make sure all the plastic protection rip off before assembling!

MR - BRI ANEBRER SR |



WARNING:

EESE
Do not move the appliance during use.
FERBAEPFEIBEFER -
Turn off gas supply at the gas container when appliance is not in use
EEmMAERAE - BiEIFERA RV E
Do not modify the appliance.
EAEUEFER °
Minimum clearance from sides and back of unit to combustible construction, 3 m from side
and 3 m from back.
IEEEMGAE RS EEIRIE - (EAIE 3K - 5 E 3 KLZIER -
IMPORTANT:
EEEHE

Read the following instructions carefully and be sure your barbecue is properly installed, assembled and cared for.
Failure to follow these instructions may result in serious bodily injury and/or property damage.
If you have any questions concerning assembly or operation, consult your dealer or LPG Gas Company.

(FAIRAELL T AR - IREAEEIERE « ARNGEFZIEILRE - FETELRATAESENRENEAGSUHMERK - N
RICHRENIREBE O - FHEHT F%E.E’JFEJFE:EHAQE%HE?%E??

When used on the ground always place the appliance and cylinder on flat level ground.

SEME LERE - B EmMNEERETE/MME L -

Never light the GRILL OR REAR BURNERS with the HOOD in the closed position.
AAEMRIERREEIEEETRBIGE LIEE -

Never light the SIDE BURNER with the lid in the closed position.

AEABEEEETEESELET -

Your barbecue can be used on gas cylinders between 11 kg and 15 kg, and diameter maximum 23.5 cm; height
(regulator included)maximum 48 cm. Your barbecue will perform better if propane or LPG mixtures are used.

Butane can be used but because of the rate of the appliance the cylinder will tend to freeze and supply gas at
reduced pressures affecting the performance of your barbecue.

TRYEETI AR 11 AFE 15 AR ZEMESHE - R KBRS 235 XK, SE ( EiERER ) A48 EK - NMREARKRK
RIEEHRESY BHNEREUREET - dlUERT R - EAREMMNER - RIETEERENHEREERNRESZE)E
FEERE .

Put the gas cylinder into the cylinder hole of the trolley bottom shelf when use the barbecue

EREEL - SRR A EEE K ERNE A S

(g = e
N

48 CM B

48 CM !

NOTE IRBRERBSE
235 23.5



Storage of Appliance

TR
Storage of an appliance indoors is only permissible if the cylinder is
disconnected and removed from the appliance. When the appliance is
not to be used for a period of time it should be stored in its original
packaging and stored in a dry dust free environment.

EREEEER LRTE  TANCEARESR - SERE—RIEMATERS  ESERTERAED  THREEHREEY
BiED -

Gas Cylinder

ELErt@

The gas cylinder should not be dropped or handled roughly! Always keep the cylinder in upright position. during
operation. Make sure the cylinder is from any source of flame before you change the cylinder. If the appliance is not
in use, the cylinder must be disconnected. Replace the protective cap on the cylinder after disconnecting the
cylinder from the appliance. The gas cylinder must be sited outside the body of the appliance.

EftEREARKEEVBEENETE - FRIESSEIMNE | EIFRFBED - EEREHEZA - FRERHEREE[X
BRI - MREMARER - AL RNERHNEER - tIMEHRERE - EREHHE - RERORUREmERS -

Cylinders must be stored outdoors in an upright position and out of the reach of children. The cylinder
must never be stored where temperatures can reach over 50°C. Do not store the cylinder near flames,
pilot lights or other sources of ignition. DO NOT SMOKE.

EfELATHERIIELUMUE -  BRESZEINEBEE - ©EEILUIER 50 (BEE) mMiths - I2ERENE - B28E

HRB T AE KNG ~ SRR E R CRME - FERSE -

This barbecue is designed for use outdoors, away from any flammable materials. It

is important that there are no overhead obstructions and that there is a minimum

distance of 1 m from the side or rear of the appliance. It is important that the

ventilation openings of the appliance are not obstructed. The barbecue must be

used on a level, stable surface. The appliance should be protected from direct draughts and shall be
positioned or protected against direct penetration by any trickling water (e.g. rain).
IbiEBIERREt AR BIMER - REREMSMME - EEMNRRITLANETE[ERY) - THEERAENENE

1 KWREIERE - EEMNE - EmMMNBEROASHEE - BRBISWEEKE - BEMNME LER - BEMNBESRREE

mc BHLEEERERE  TREMKMIEECEK (MK ) BEE2E -

Parts sealed by the manufacturer or his agent must not be altered by the user. No modifications should be made to

any part of this barbecue and repairs and maintenance should only be carried out by a CORGI registered service

engineer.
HEBNEREINBGASRERAEEN - ABEERENTOS S ETEAEN - EEMERBEHREEH CORGI s AR
B IAZRMETT -

Since this barbecue has no restriction in the
Emission of unburned gas, this barbecue
must be installed and/or used

outdoors or in an amply ventilated




area. Were this BBQ in an amply
ventilated area, the area must
have at least 25% of the

surface (sum of the wall
surface) area open.

R ICEE R B REIAR R ERRIZENEIN - R IERERANAERINEE T BRI ZERAER - IREREEEIEEST

FEENEE - Zit@VWAEBEV25%NZER (fREZH ) BEFRK -

Connection to Appliance
EEE TR

Before connection, ensure that there is no debris caught in the head of the gas cylinder, regulator, burner and
burner ports. Spiders and insects can nest within and clog the burner/venturi tube at the orifice. A clogged burner
can lead to a fire beneath the appliance.

FEEEZA - BRELHTE - RETER - MIESRARNER IR O NIESEPARRERE - NKRNESSREEANTIEERRER/X
B MEREETREREMR FHIEX -

Clean burner holes with a heavy-duty pipe cleaner.
ERAMEERRR B RRIERA

Fit the hose to the appliance using a spanner to tighten it onto the connection thread. If the hose is
replaced it must be secured to the appliance and regulator connections with hose clips. Disconnect the
regulator from the cylinder (according to the directions supplied with the regulator) when the barbecue is not in use.

FERRFEREZEIEML - BEHEZIEZREN L - MRFHREE - ANESEEEEER L  UFANE XA RE
% - RERERER  BiFEIE LA RERUE (RIBAESRLEMNER) -

The Barbecue must be used in a well ventilated area. Do not obstruct the flow of combustion air to the burner
when the barbecue is in use. ONLY USE THIS BARBECUE OUTDOORS.

BREENEEERRFNMERR - ERRIEER - B2ERGRREERRORES - REERIIMERERER
KNS -

BEFORE USE CHECK FOR LEAKS
FERBELHEREARRER
Never check for leaks with a naked flame, always use a soapy water solution
AERIEBKARGE BREPXGERR -

TO CHECK FOR LEAKS
R

Make 2-3 fluid ounces of leak detecting solution by mixing one part washing up liquid with 3 parts water.
1%1: IEREI(ER)E KBS - HIF 2-3 REWNWBERRE(IEEK), MAEHIR.

Ensure the control valve is “OFF”.

TERIZHIR A" FAR U &

Connect the regulator to the cylinder and ON/OFF valve to the burner, ensure the connections are secure then turn
ON the gas.



i e e R R B FLEA AR - 15 FR/RARR IR BINA RS - MEIRERL SR - ARITRAERH -

Brush the soapy solution onto the hose and all joints. If bubbles appear you have a leak, which must be rectified
before use.

SIEEKRIZMEMAAAEEL - MRERKE - AIRTERNER - EERILEEMBRHHEESERY -

Retest after fixing the fault

BEMEEENE

Turn OFF the gas at the cylinder after testing.

b: ke 3l Dm0

If leakage is detected and cannot be rectified. Do not attempt to cure leakage but consult your gas dealer.
MRBAFRRIEREEEEE  FEECHAETIIEMBEGHMIRR - FaATBENPFIMSITHEZRIFEREE -

Lighting Instructions for barbecue

JE 2 IE B KRR A
.Open the hood of the barbecue before attempting to light the burners.

PRIEZRECK ZAT - BRI RES
. Turn all the control knobs clockwise to “OFF” position.

& s £ 7% BT A #22 h Hie SR 88 o " A PR " (i &
.Connect the regulator to the gas bottle. Turn the gas supply “ON” at the regulator. Check with the use of
soapy water for any gas leakage between the bottle and the regulator.

SEERERIRGELE - BREMETTR(ERZRRE) FHEEEK—ERERTRIRER 2 BEEARNRFBIER -
4. Push down the front left control knob and keep pressing whilst turning anti-clockwise to the “HIGH”

position (a clicking sound is heard), this will light the left hand burner. Observe if the burner has lit. If
not repeat this process.

BT gL REFINER - EREEE - BSEEHEEHIGH IE (BRIXE ) - MM FME:S - BRNIER
EEME - MRSAWNFEERILBE -
5. If the burner has not lit after retrying wait 5 minutes and repeat step 4.
MREHEMKRIN - BESS DE - REEEDRL -
6. Adjust the heat by turning the knob to the High/Low position.
\iBheiiEO 5/ IBRBEHAE
7. If the burner does not light. Light the appliance with a match using the lighting hole in the side of the
appliance. Consult your gas dealer to rectify the ignition.
MRRIERARIN - ERERAEMRMXILBRER - UEZBTCEBENFIMIITHEERBER AR ENR
KRS -
8. To light the remaining burners in sequence from left to right, and repeat 4 above. The crosslighting

channel between the burners will light the burner adjacent to it. Never attempt to light other burners
except left hand burner first.

REZGRIEFEMRTIRAMRIESR  ABER| L 4 - RIEIZBMRTIXIRZENRIER - INESLHMRIRE
IRz ER DISMRY ELfh R4 RR ©

9. To turn the barbecue ‘OFF’ turn the cylinder valve or regulator switch to the ‘OFF’ position and then
turn the control knob on the appliance clockwise to the ‘OFF’ position.
EigIRENE" AR 1§ RS A En R RS E BRI B - ARIERS S ER EAYEFITERE R "OFF U -

Warning:
ARSI
If the burner fails to ignite, turn the control knob off (clockwise) and also turn the cylinder valve off. Wait
five minutes before attempting to relight with ignition sequence.

MR AGERARROK - FRARA TSI (IRSE ) - REBRARK - SEHNE  REEXAFERMXIEFEMEA -
Lighting Instructions (Side burner)

b NG

1. Open the lid of the side burner.



FTRAEEE

2. Push down the side burner control knob and keep pressing whilst turning anti-clockwise to the “HIGH”
position (a clicking sound is heard), this will light the side burner. Observe if the burner has lit. If n ot
repeat this process.

@ T RERIiEsR - ERIRE - EFEFHEBE"HIGH (I (BRIXE ) - BMRLEFRE:R - BRNIER
SEME - MRLAMNRFEBULBE -
3. If the burner has not lit after retrying wait 5 minutes and repeat step 2.
MREFA BRI - FER S DiE - KBEEDH 2
4. Adjust the heat by turning the knob to the High/Low position.
EiBieilEn 5/18 (IERASME
5. If the burner does not light. Light the appliance with a match using a long match or taper. Consult your
gas dealer to rectify the ignition.
MRABERR RN - ERARXEEIMKEAER - LiRAHEBENEHBREENEMRRKXFHE -
6. To turn the side burner ‘OFF’, turn the control knob clockwise to the ‘OFF’ position. If you wish to turn

the complete barbecue ‘OFF’ turn the cylinder valve or regulator switch to the ‘OFF’ position and then
turn the control knob on the appliance clockwise to the ‘OFF’ position.

ZiGRIAEE=R "B " - FEIENG SIS ENIEHITEERE] "BARA U E - MREFNGSTZRIGEIENE "FARA " 5515 R AR an 23 Rk
BR"EARUE - ARIER S Em EAVER NesRE R "OFF "I -

Warning:
ARSI

If the burner fails to ignite, turn the control knob off (clockwise) and also turn the cylinder valve off. Wait five
minutes before attempting to relight with ignition sequence.

MRIRIBERARIIR - FARARAERITESR (IRRSET ) - AARBERESR - FHODE - AERFEEUIKEE -

Before cooking for the first time, operate the barbecue for about 15 minutes with the lid closed and the gas turned
on LOW. This will “heat clean” the internal parts and dissipate odour from the painted finish.

F—RRERI(REKE) - FREEE S UGS EERABRELOWRIER FEEL 15 £ - EfF"MERER " RNEHE
TEREEARERERREIRK -

Clean your barbecue after each USE. DO NOT use abrasive or flammable cleaners, as it will damage the parts of
the product and may start a fire. Clean in warm soapy water.

BRERBBRERE - F2ERWEBXZREETL - ARERBRERMNEHETIFESIEEXK - dRRIERKE
iz -
WARNING: Accessible parts may be very hot. Keep young children away from the hot appliance at all times (even

while cooling down!). Itis recommended that protective gloves (eg oven gloves) be used when handling
particularly hot components.

RSO TTAETE R B - RERSEAD STERL ISR (ENETES AN | RBEREERRGLSERAGEFE (MEN
FE)

CLEANING AND CARE
RN RS

CAUTION:

(BE):

All cleaning and maintenance should be carried out when the barbecue is cool and with the fuel
supply turned OFF at the gas cylinder.

ERENE LA EERHARERERNR - BETTAFRMAEE -

CLEANING



N=oN]
/B IR

“Burning off” the barbecue after every use (for approx 15 minutes) will keep excessive food residue to a minimum.
BRERE"MXER"BIHRNEYRBMRIEIRE (HN1558E )

OUTSIDE SURFACE
f(ﬁ‘)%?%

Use mild detergent or baking soda and hot water solution. Non-abrasive scouring powder can be used on stubborn
stains, then rinse with water.

ERRMAEIRE SN ERITMERKB R - FFEMM DRI T RRTEERISE - AEAFEKDRE -

If the inside surface of the barbecue lid has the appearance of pealing paint, baked on grease build-up has turned
to carbon and is flaking off. Clean thoroughly with strong hot soapy water solution. Rinse with water and allow to
completely dry. NEVER USE OVEN CLEANER.

MRBEENARERARRLACET - B - ERENRECSE K - WERE - SIERBRKRIEEKERHEES
R RKH% - BRELR - UZEREETERR -

INTERIOR OF BARBECUE BOTTOM
A EE R

Remove residue using brush, scraper and/or cleaning pad then wash with a soapy water solution. Rinse with water
and allow to dry.

EARF - BB RBBERZEY - ARBIEEKBRES - BRAKDSE - HREHIZE

WOODEN SURFACES

REFRHFR

Wash with a soft cloth and hot soapy water solution. Rinse with water. Do not use abrasive cleaners, degreasers
or a concentrated barbecue cleaner on wooden parts.

FREGMRAILEBKBRBR - BRKPR - B2EARSH LERERNSZE - RIEE SR EESRE

COOKING GRID
NS
Jf%élg[/ﬁ //%’\‘
Use a mild soapy water solution. Non-abrasive scouring power can be used on stubborn stains then rinse with
water.

ERBMAIEZKER - BRINKREERIFEEGE - ARBKDSE - GEEMMER DU RBKIRREZRE)

CLEANING THE BURNER ASSEME PLEASE NOTE THE BURNER DIRECTION
EEERERSE

Turn the gas OFF at the control knob
and disconnect the cylinder.

%8 B 22 il e 1 0 8K 2% 3R B2 2R R B
Remove cooling grate.

BERHE

Clean the burner with a soft brush or
blow clean with compressed air and
wipe with a cloth.

RS BIAERR - UERBHER
WEziFE - WAHEREE -

Clean any clogged ports with a pipe
cleaner or stiff wire (such as an
opened paper clip).
EREEFRTISER (MITRNERE ) FREMEENT -




Inspect burner for any damage (cracks or holes). If damage is found, replace with a new burner. Reinstall the
burner, check to ensure that the Gas valve orifices are correctly positioned and secured inside the burner inlet

(venturi).

BEREREEAEMER (R ) - MRBRER -

I E EE R FESRAD (MEIFRR )

SERVICING
R

ARG - EMRENES - MELRARIEMLEREL

Your gas barbecue should be serviced annually by a competent registered person.
BEEESFRAEEABRMIBEBIRE

TROUBLE SHOOTING

i = BEFRPOSSIBLE CAUSE

IEStfLEN ELETERE FH
5. electrode wire loose or disconnected
on electrode or ignition unit
BB AR BRI KRB RRED
6. electrode or wire is damaged faulty
pushbutton igniter

PROBLEM POSSIBLE CAUSE SOLUTION
RIRER, OJgEERE BRRTE
Burners will not light using the | 1.LP gas cylinder is empty 1.replace with full cylinder
ignition system LPE i 4% #8 EL B ERHLPE
WAKEZR RO K BRI B 2.faulty regulator 2.have regulator checked or
HEE RS replace
3.obstructions in burner B E R AR
PRI ZE 3.clean burner
4.obstructions in gas jets or gas hose BIRRGERR

4.clean jets and gas hose
EEERA SN ESRE
5. reconnect wire
BEMELER
6. change electrode and
wire change igniter

IEH AL R AT IR = R =

K2R B ERIBER R KRB ER
1.LG gas cylinder is empty 1.Replace with full cylinder
. . . LGE Hr i FL H EIRLGE Hr 4
Burner will not light with a
match 2.Faulty regulator 2.Have regulator checked or
15528 B8 S S UL AR AR replace
3.0bstructions in burner e E RS
PRIERIPEZE 3.Clean burner
4.0Obstructions in gas jets or gas hose BRI

4.Clean jets and gas hose
SIS AL L B

VERY IMPORTANT INFORMATION

FEEEEH




CARE AND PROTECTION OF STAINLESS STEEL SURFACES
A AR E RV E IR (RaE

Your BBQ features Stainless Steel components, using moderate grade Stainless Steels. All Stainless Steel grades
require a level of care and protection to retain their appearance. Stainless Steels are not immune to corrosion
and neither are they maintenance-free, contrary to popular public perception. Even the highest marine grades
of Stainless Steel require frequent cleaning with fresh water to avoid oxidation and other corrosive issues.
TRRBESAARNTERTG  EFRPESRNAFEN - FIEAFHSRETE—EEENZENRE - 7oERSHEHING - FiFH
FaE el - EMTARFRERE  EREATHNEERZNHK - EEERSFRNEBLAFAFHTBELERNKER - YU
e CMEMEEn 4 RERE -

Modern tastes dictate that your BBQ features Stainless Steel with a brushed finish. This brushed finish is attained
by running Stainless Steel sheets through an abrasive process that removes the mirror finish and leaves the
brushed finish. Brushed-finish Stainless Steel requires frequent cleaning and care, to maintain its quality of
appearance. Without adequate care it is realistic to expect that it will show signs of corrosion in time.
AEFMREN#4RIEZIRNIBRIER TR - BBRMARERN TZETAFEMER  EFREALRELE THAKRE - RIREB LG

#MIZBNZRE - NAFFHFTEEEBTZNRE - LURFHMNERE - MRRFEENEERE - HRBERIFREEEW -

Stainless Steel is definitely not a maintenance-free material. Cleanliness and Stainless Steel are closely
related.

AFEEMMEEB AT —BEREEMY - BREREEACFHAMENEECTHENUAR —EREEMR - FREERFERZIHEE
i HERE

After assembly, we recommend that owners apply a thin layer of Olive Oil with a clean rag, to all exposed
Stainless Steel areas. This should then be polished in and buffed off with another clean rag to a non-oily finish.
This process will aid protection against dirt and other corrosive contaminants, by providing a temporary food-safe
shield. The Olive Oil layer also makes later polishing and removal of fingerprints easier. This process should be
repeated frequently when cleaning your grill.

HAER BMERERBURARERNIIMNIAFEHENE F—EEEHIER - 4% A —ELZFNEMEERIEMMERE - I
BEMELLZEZRFRES - ILRESHBIFHLLEXEMEtEa4E5R2YME - B hEEEERENEENBNERERS - 5 F
BRISRBEREERIBE -

You may have bought a protective cover for your BBQ. It is recommended that a BBQ cover should be used at
all times when the BBQ is not in use to protect your investment. However it is vital to understand that unless the
BBQ is cool, clean and dry when the cover is fitted, use of a cover can in fact be detrimental. A cover placed
on a warm, wet or unclean BBQ (or any mix of these factors) can in fact be a very effective corrosion breeder!

ROBEERTHREBERE T —EREFRES - BEEFERANER TRFZENRIEE - BREAETRIBEL - 24T - UEERE - IR
FRFRIERERIRE - BRENMLZENERR - EREFRESRE - WEIRRPNRE (NEMELEEAZRMNES ) ELZERE
£ BERLUEREEN RERESERLUAR—EFEENNRBEES !

For this reason, the BBQ should always be cool, cleaned of any surface contaminants or dirt and be
thoroughly dry before a protective cover is fitted. This is especially important before a BBQ is stored for any
length of time i.e. if the BBQ doesn’t get frequent use, or when the BBQ is stored away over winter months.

FE - RBIERIRAERRC 24 - BREOURESENESHE  TEELLRERESZAAKRLZE - E—MEREEREREG
ZAIAHEE  AIMREEELBMREER  AEFELFTHNLE/E  BRREEBREZEREER -

In order to maintain the quality of the finish of your Stainless Steel BBQ, the owner must be vigilant with care and
maintenance according to this advice.

ATREAGFHEEENTE  EREVARBEREZZEREEIHMAEE -
Look after your investment carefully and it will serve you well for many years to come.
AIFHZERERBEENEREE  CERERBRSE -



MODEL NO.:

G2082G

TOTAL HEAT INPUT:
(ALL GAS CATEGORIES)

5.5KW (400 g/h)

\H/
ZC€
fr— 0359-20

GAS CATEGORY:

I38/p(30)

TYPES OF GAS:

LPG GAS MIXTURES

GAS PRESSURE:

30mbar

INJECTOR SIZE:

Main Burner :

0.84mm

IDENTIFICATION CODE: (0359BU1034

FOR USE OUTDOOR AND IN WELL VENTILATED AREAS.

WARNING: ACCESSIBLE PARTS MAY BE VERY HOT. KEEP YOUNG CHILDREN AWAY.
READ THE INSTRUCTIONS BEFORE USING THE APPLIANCE.

A5k G2082G
T Th R
Wit 5.5KW (400 g/h) —
; ( c 0359-20
— - -
TLH AR lsg/p(30) —-—
L LPG GAS MIXTURES
LR 30mbar
W5 9 Main Burner : | 0.84mm
A B 0359BU1034

i P J5 R JEL R 4 [ 3

(o U R 0 B P R . SRR S A% T A I

(5 P A it i ' ) il £ 26t

&










